EIR/N\ T4y 7dIIL 5B bR &

F h MW I L 7 E B
H & H 3 R 21 &£ 10 A 14 H
TAT(OUT) =LA (IN) BfE1-2 . b #8 d )L 28 %
# | RH9—F K4 Pil HD K4 il HD K4 Pil HD K4 2l HD
1 9:00 |EH RX = 5 56 |E™ BEA RE—F| 68 |#AME {EBA E3]i- 6.9 |#W BIE B bk 74
2 908 (EBE FIF E3]i 66 |fE RIE SF4L 71 |EEBX ® E3]i- 3 7 |¥E =5k C-7ve | 99
3 9:16 |EiIiM B EkR 8 |fhF HXFv| 41 [EE #H$H= a==vyhb| 81 | BA SPAL 8.1
4 9:24 | T KE 3] 1 |lE B AXFv | 17 |BEh EEE 3] 64 |EH £ I 74
5 9:32 |k i E]i-3 43 |BR F=E AXFv| 19 |(EEK EEF | &AW 12 |FIFE & Edfid 7
6 9:40 |(HTP HEN E3] i3 38 |RE EE a==vh| 72 |HEPBE BE | BEER 53 |EH &M= RE—F| 85
7 9:48 |EMH Ex | EHE 6.1 |FE{E EpE 6.5 |(LLE Tk EkR 7 |BE B Exfid 7
8 956 |RE F=— E3] i3 0 |EAO & HXFv| 39 |[FE B ] 48 |/MENII BE | SRl 5.2
9 10:04 |1 XK E3]i-d 55 |E=H % HXFy| 61 |FxT KA Er 76 |BE S AXFx| 5.1
10 | 1012 |h# EE E3] i3 39 |[fhRIE Zh EpR 69 |ER BX E3]i- 3 69 |[FB E E] 3 8.7
11 10:20 [4HfE BBAE E3]i- 8 |FW &R HhXF| 57 |JILE BsA HXFy| 71 | WK BrREk 34
12 | 10:28 |XJII 2— E3]id 54 |Ef# Bh ERR 2 |HE EfE E3]id 46 (LR —E ERR 12.5
NMEZAN) =F4T(OUT)
# | RH9—F K4 Pil HD K4 il HD K4 Pil HD K4 il HD
1 900 (BER & E3]i- 99 |HM BE sS7ys| 98 |HE # E3]i-d 11.8
2 9:08 [(FEiH & E3]i 232 |RAJl EA AXF¥ | 155 |5H8E BHX | 1=<vr| 154
3 9:16 |B2FRE = E]i3 92 |TER E# Edfid 73 |&5H & ErE 1.1 | K i E3]-3 16.6
4 9:24 [EAHM FEiE | BE 108 |AI& &SR SF4AL 121 |&f B8 E3] i3 126 |&TFH ER =L 18
5 9:32 |AFETE B Ei-3 111 |ded B Spva | 17 |HTE R E]i-3 122 |B% HIE S7va | 151
6 9:40 |Tih EX E3] i3 95 |(HE FIE E R 95 (&Il &R E3] i3 9.2 |¥iE 18 Edfi 10.4
7 948 (B% F E]i3 84 |BBR XX HAXF¥ | 193 |ER &3sh ErE 8.9
8 9:56 |tfE§ REH E3] i3 58 |X&H BIE E3]5 S 69 |LUE HF E3] i3 132 |TE FAa EpR 16
9 10:04 |Et EIE E3]i- 16 |BEE 2AA Exfid 195 |3k Mg E]i-3 185 |&RE HifE Edfid 28
10 | 10:12 |fEdk 1EBR E3] i3 87 |[K&HF &RX E R 96 [HREB# =E E3]5 3 44 |znfE EB(E Ed] 3 9.9
11 10:20 |LEih JEXR E3]i-d 83 |K¥ E5h Exfid 48 |BR RE E]i-3 73 |kl TE Exfid 7.4
12 | 1028 |RA) X% | EHER 15 (B VAF HRzk 15.6 |4\ HEvy Hisk 136 |&H WF iR | 228

KRIENHEGERIIEEED—RELETH A H 5.



